BFP PR 13: 1NT Response to 1Suit Opening

AKQJ32 Board 1: Dealer North: Love all
vJa3 West North East South »
¢143 14 Pass INT €
*AJ All Pass i)
A 1084 A A95 £
>
vQ75 vAl1062 South’s 1NT response denies four spades and shows 6-9 HCP. t]
¢ Al05 +K62 With 13 HCP North knows there is no game on. Bidding 2 a L
K942 #1083 with only five in the suit risks a poor trump fit and North has §
A76 no second four card suit. North passes leaving partner with S
vK98 only seven tricks to find. é
+Q987 -
#Q765 =
HCP Makeable contracts 2
| ¢ | v |a[NT -4
13 N[-[1]-]1]1 &
9 11 S|-]1]-[1]1 5
7 El1|-]1]-]-
wil1]- - -
A 108 Board 2: Dealer East: NS vulnerable
vQrss3 West North East South »
¢ A105 1a Pass 'g
+K342 INT Pass 24 All Pass 3
A76 AKQJ432 x
K98 vJ4 , : a
v West’s 1NT response denies four spades and shows 6—9 HCP. ki
+Q987 4143 With a 6-card suit and 13 HCP East re-bids 24 as this has a 2
+«Q765 %A better chance than No Trumps due to the outside suit §
AA95 shortages. 3
vA1062 9
[
*K62 -
#1083 =
HCP Makeable contracts ﬂ
s|loe|v]|a|NT [
9 N[ -2 - &
7 13 S|11|-(2]-]- I&IS
11 El-[1]-]2]1
Wl-|1]|-[2]1




BFP PR 13: 1NT Response to 1Suit Opening

A76 Board 3: Dealer South: EW vulnerable
VK98 West North East South »
¢ Q987 14 ‘=
[}
*Q765 Pass INT Pass 34 8‘
AA95 A 108 All Pass £
v 10642 vQ753 a
+ K62 ¢ Al05 North’s INT response denies four spades and shows 6—9 HCP. 2
%1083 +K942 With a 6-card suit and 17 HCP South re-bids 34 as there is a §
AKQJ432 chance of game. With only 7 HCP North passes. S
vAJ 4
0143 i
%A =
HCP Makeable contracts 2
| ¢ | v |a[NT -4
7 N[2]3]1]3]3 &
7 9 sl2]2]-[3]3 w
17 E
w
AA95 Board 4: Dealer West: All vulnerable
v 10642 West North East South »
¢ K62 1a Pass INT Pass 'g
#1083 3a Pass 44 All Pass 3
AaKQJ432 A76 x
>
VAl vKQ3 East’s INT response denies four spades and shows 6—9 HCP. i
¢143 +Q987 With a 6-card suit and 17 HCP West re-bids 3a as there is a 8
%A *Q765 chance of game. With 9 HCP East raises to 4s. §
A 108 o
o
v8753 3
[
¢ A105 -
£K942 =
HCP Makeable contracts ﬂ
s|loe|v]|a|NT [
7 N - &
17 9 s| - oy
7 E|l2(3]|1]4]|4
wl(2]|3|1|4]4




BFP PR 13: 1NT Response to 1Suit Opening

AKQJ43 Board 5: Dealer North: NS vulnerable
vAJ32 West North East South »
14 14 Pass INT €
*AJ Pass 3v Pass 44 8‘
A 108 A A95 All Pass £
v875 v 1064 a
¢A1053 +K762 South’s 1NT response denies four spades and shows 6—9 HCP. 2
% K942 %1083 With five spades, four hearts, and 17 HCP, North re-bids 3% §
A762 asking partner for a second bid. With 9 HCP and three spades, S
vKQ9 South opts for 4 4. é
+Q98 -
#Q765 =
HCP Makeable contracts 2
| ¢ | v |a[NT -4
17 N|2|1|4]4]3 g-_
7 7 s|2[1lalal3 @
9 Ef-]-]-1-]-
wWl-1|-1|-1-1-
A 108 Board 6: Dealer East: EW vulnerable
v875 West North East South »
¢ A1053 1a Pass 'g
+K342 INT Pass 2v Pass 8‘
A762 AKQJ43 24 Al Pass P
vKQ9 vAJ32 A
+Q98 ¢4 West’s INT response denies four spades and shows 6—9 HCP. 8
+«Q765 %J3 With five spades, four hearts, and 13 HCP, East re-bids 2 §
AA95 asking partner to “show preference”, by passing if necessary. S
v 1064 With 7 HCP and 3 spades, West opts for 2s. é
*K762 -
%A108 =
HCP Makeable contracts ﬂ
s|loe|v]|a|NT [
7 N[1[a]-[-]- &
9 13 slafa|-]-[- oy
11 El-|-]2]2]1
Wl-|-]2[2]1




BFP PR 13: 1NT Response to 1Suit Opening

A 108 Board 7: Dealer South: All vulnerable
V875 West North East South »
¢ A1053 1v 'g
*K942 Pass ANT All Pass i)
A762 AKQJ43 ]
>
vKQ9 via4 North’s INT response denies either four hearts or four spades t]
+Q98 4142 and shows 6—9 HCP. With a 5-card suit, 15 HCP and no chance | 8
*Q765 *J83 of game, South passes. It should make 8 tricks for 120. b
AA95 S
Q
vA10632 ]
+K76 i
#A10 =
HCP Makeable contracts 2
S| | v|a]|NT o
7 N[1]3]3]1]2 &
9 sli|3[3]1]2 w
15 El-|-1-1-]1-
wWl-1|-1|-1-1-
AA765 Board 8: Dealer West: Love all
vkQs West North East South »
+Q38 lv Pass INT Pass 'g
*Q75 2¢ Pass 2v 24 8‘
A9 4 108 3v 34 All Pass =
vA106532 v87 a
*K762 ¢ Al05 It's love all and one side has hearts and the other side spades. 8
+Al0 +K96432 East/West can make 9 tricks in hearts for their best score of §
AKQJ432 140, but North/South should go the extra spade and just give 3
vlia away 50. é
¢J43 -
%18 =
HCP Makeable contracts ﬂ
s|loe|v]|a|NT o
13 N[-[-[-T2]1 &
11 S{-[-[-[2]1 -
9 E|3]2]3]-]-
wl3s|2[3]-]-




BFP PR 13: 1NT Response to 1Suit Opening

AQ9 Board 9: Dealer North: EW vulnerable
vA1063 West North East South »
+K8762 le Dbl 2¢ '
*Al0 24 36 All Pass &
AKJA32 AA765 -
vi54 vKQ92 North doesn’t have a balanced hand, so bids 1 ¢. With 13 HCP, 5
¢143 +Q9 two four card majors and only two diamonds East doubles for 2
*J8 Q75 take-out. South bids 2 ¢ to show 6-9 HCP and some diamond §
4108 support. Opposite the double a bid of 24 shows at least four 8
v37 spades and 6-9 HCP. The opening side are not vulnerable and é
¢ A105 may go further... =
% K96432 =1
HCP Makeable contracts 2
| ¢ | v |a[NT -4
13 N[2[3]-]-1- &
7 13 sla23]-]-[- w
7 E|l-[-]1]1]-
Wl-]-[1]1]-
AKA432 Board 10: Dealer East: All vulnerable
vi543 West North East South »
*KJ 14 Pass S
)86 INT Pass 2% Pass 8‘
4108 4QJ965 2¢ Pass Pass 2v 5
va7 vAl0 All Pass 3
+A105432 +87 e
*K94 *A1032 East opens 14 on a “Rule-of 20” (11 HCP + 5-4 shape). West’s §
AA7 INT response denies four spades and shows 6-9 HCP. With S
vKQ962 five spades, four clubs, and 13 HCP, East re-bids 2« asking é
+Q9%6 partner to “show preference”, by passing if necessary. West E
Q75 has no support for either spades or clubs so bids 2 ¢ to show -
HCP Makeable contracts || the g-card suit. South can now bid 2% as the bidding suggests Q
9 N "' ‘ '2' ‘ N_T that North has support for hearts. This will probably end the &
7 1 s - - 12 - 1-|| bidding because East/West are vulnerable. E
13 E|l2(2]-]2]-
wil2]|2|-]2]-




BFP PR 13: 1NT Response to 1Suit Opening

A 1082 Board 11: Dealer South: Love all
v876 West North East South »
#A105 e £
*K964 Pass INT Pass 3 8‘
4A765 4)943 Pass 3¢ Pass 3NT s
vKQ92 vJ543 All Pass a
+92 ¢J43 e
+«Q75 *J8 North’s INT response denies either four hearts or four spades §
AKQ and shows 6-9 HCP. With five diamonds, four clubs, and 18 S
vAl0 HCP, South re-bids 3 asking partner for a second bid. With 7 é
+KQ876 HCP and three diamonds North opts for 3. With a stopper in =
+A1032 each of the other three suits South may now decide to try 3NT | =
HCP Makeable contracts || hoping to make 9 tricks before the defence can take 5 tricks. 9
| ¢ | v |a[NT -4
7 N[ala|-]-]3 &
11 4 s{ala|-]-]3 w
18 El-|-]-]1]-
Wl-|-[-[1]-
AA765 Board 12: Dealer West: NS vulnerable
vKQ3 West North East South »
¢392 le Pass INT Pass 'g
+Q753 2v Pass 3¢ Pass 8‘
AKQ A 1082 3NT All Pass =
vA1032 v876 a
+KQ876 ¢ A105 East’s INT response denies either four hearts or four spades 2
+A10 *K964 and shows 6—9 HCP. With five diamonds, four hearts, and 18 §
41943 HCP, West re-bids 2% asking partner for a second bid. With 7 3
vi54 HCP and three diamonds East opts for 3 . With a stopper in é
¢J43 each of the other three suits West may now decide to try 3NT =
*J82 hoping to make 9 tricks before the defence can take 5 tricks. E
HCP Makeable contracts ﬂ
slolvw|a|NT o
11 N[-|-[-1-1- &
18 7 s| - -1 - oy
4 E|l2]4]4]-]3
wl2|a|a]|-]|3




BFP PR 13: 1NT Response to 1Suit Opening

AAQ Board 13: Dealer North: All vulnerable
v AK642 West North East South »
s64 1v Pass INT €
+QJ103 Pass 2% Pass 2v 8‘
A K982 A543 All Pass &
v53 v Q109 a
¢ AK985 41032 South’s 1NT response denies either four hearts or four spades 2
*76 *A98 and shows 6-9 HCP. With five hearts, four clubs, and 16 HCP, §
41076 North re-bids 2% asking partner to “show preference”, by S
vJ37 passing if necessary. With 7 HCP and 3 hearts, South opts for é
+QJ7 2v. =
#K542 =
HCP Makeable contracts 2
| ¢ | v |a[NT -4
16 N[3|-[3]-]1 &
10 7 s|3|-[3]-]1 w
7 El-]1]-]2]-
Wl-[1[-]2]-
A K982 Board 14: Dealer East: Love all
vs3 West North East South »
¢ A985 lv Pass s
)]
*176 INT Pass 2NT Pass &
41076 4AQ 3v Pass 4v All Pass 5
v Q87 v AK642 a
+QJ10 ¢ K64 West’s 1NT response denies either four hearts or four spades 2
K542 +Q103 and shows 6—9 HCP. With five hearts, no other 4-card suit, and §
41543 18 HCP, East re-bids 2NT. West bids 3 v, a forcing bid showing | &
vJ109 8-9 HCP and 3-card heart support. East opts for 4 #. é
¢732 -
%A98 =
HCP Makeable contracts ﬂ
slolvw|a|NT o
8 N[-|-[-1-1- &
8 18 s|-1-1-1- oy
6 E|5]|3|5(2]4
W[5|[3|[5]2]4




BFP PR 13: 1NT Response to 1Suit Opening

A10763 Board 15: Dealer South: NS vulnerable

vas West North East South »

+QJ10 1v ‘=

*K542 2

Pass 1a Pass 34 o

4154 AK8 Pass 44 All Pass s

vJ1097 v53 a

¢732 +A3854 South opens 1% and partner responds 14. South re-bids 3a to | 2

*A98 %1763 show 16-18 HCP with 4-card spade support. North with 8 HCP §

AAQ92 raises to 4 4. S

v AK642 é

¢ K6 -

%Q10 =

HCP Makeable contracts 2

| ¢ | v |a[NT -4

8 N[3[2]3]a]3 &

6 8 S|1312(3(4]3 'j.'s
18 El-[-]-]-]-
wWl-1|-1|-1-1-

AJ54 Board 16: Dealer West: EW vulnerable

vJ1097 West North East South »

$732 lv Pass 1a Pass 'g

#A98 24 All Pass 3

AAQ92 A 10763 =

>

vA6432 vas West opens 1% and partner responds 1a. West re-bids 24 to 4]

*K6 +QJ10 show up to 14/15 HCP with 4-card spade support. East passes. 8

Q10 *K542 2

aKS8 5

o

vK5 3

+A9854 -

%1763 =

HCP Makeable contracts ﬂ

s|loe|v]|a|NT [

6 S =

15 8 S|-]1|-]-]- -

11 E -|1]3

wl1]|-|1[3]1




